MATHS

BOOKS - SWAN PUBLICATION

DATA HANDLING

1. Find the mean of the following data :

3,5,7,9,11,13,15

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1KWhVrTcroud

2. Find the mean of the following data :

40,30,30,0,26,60

o Watch Video Solution

3. Find the mean of the first five whole

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_1KWhVrTcroud
https://dl.doubtnut.com/l/_u4LFjDV7Ewo9
https://dl.doubtnut.com/l/_PtIoM54BKy4v

4. A batsman scored the following number of
runs in six innings : 36,30,51,46,50,55
Calculate the mean runs scored by him in an

inning.

o Watch Video Solution

5. The ages in years of 8 teachers of a school
are : 32,41,54,35,26,33,38,40
What is the age of the oldest teacher and that

of the youngest teacher ?

| & I


https://dl.doubtnut.com/l/_OKYQadFOlyHo
https://dl.doubtnut.com/l/_uqsG4FoVPBFK

| ¥ Watch Video Solution |

6. The ages in years of 8 teachers of a school
are : 32,41,54,35,26,33,38,40

What is the range of the ages of the teachers

?

o Watch Video Solution

7. The ages in years of 10 teachers of a school
are: 32,41,54,35,26,23,33,38,42

What is the mean age of these teachers ?


https://dl.doubtnut.com/l/_uqsG4FoVPBFK
https://dl.doubtnut.com/l/_nAHrN6ox9jbH
https://dl.doubtnut.com/l/_IVd6l6GOmm0j

° Watch Video Solution

8. The rain fall (in mm) in a city on 7 days of a

certain week was recorded as follows

Dajr Mon Tue | Wed | Thurs | Fri | Sat |Sun
Rain fall | 0.01 1| .12.2 | 2.1 0.0 [205]|55 (1.0
(in mm) e '

Find the range of the rain fall In the above

data.

o Watch Video Solution



https://dl.doubtnut.com/l/_IVd6l6GOmm0j
https://dl.doubtnut.com/l/_rDI0ZvRM6rrv

9. The rain fall (in mm) in a city on 7 days of a

certain week was recorded as follows

Dajf Mon | Tae | Wed | Thurs | Fri Sat |Sun
Rainfall | 001 | 22| 21 | 00 [205 |55 (1.0
(in mm) - '

Find the mean rainfall for the week.

o Watch Video Solution

10. The rain fall (in mm) in a city on 7 days of a

certain week was recorded as follows

Dajr Mon | Tae | Wed | Thurs | Fri Sat |Sun

Rain fall | 001 (122 | 21 | 00 [205]55 |10
(in mm) - '



https://dl.doubtnut.com/l/_NSTwjnb3pW1C
https://dl.doubtnut.com/l/_aFjDFJGkaAVr

How many days had the rainfall less than the

mean rainfall ?

° Watch Video Solution

1. Find the median of the following data :

3,1,5,6,3,4,5

o Watch Video Solution



https://dl.doubtnut.com/l/_aFjDFJGkaAVr
https://dl.doubtnut.com/l/_9lXH0VnJeQcq

2. Find the mode of the following numbers :

2,2,2,3,4,5,5,6,6,8

° Watch Video Solution

3. The scores in mathematics test (out of 25)
of 15 students is as follows:

19, 25, 23, 20, 9, 20, 15, 10, 5, 16, 25, 20, 24,12, 20
Find the mode and median of this data. Are

they same?

° Watch Video Solution



https://dl.doubtnut.com/l/_vBs3od9hZ7cY
https://dl.doubtnut.com/l/_rjGYrrXZ9T9J

4.The weights (in kg.) of 15 students of a class
are:
38,42,35,37,45,50, 32,43,43, 40, 36, 38, 43, 38,
47

Find the mode and median of this data.

o Watch Video Solution

5. The weights (in kg.) of 15 students of a class

are:

38,42,35,37,45, 50, 32,43, 43, 40, 36, 38, 43, 38,


https://dl.doubtnut.com/l/_rjGYrrXZ9T9J
https://dl.doubtnut.com/l/_nXZz2XJlepSK
https://dl.doubtnut.com/l/_zdpPQVGt5lCn

47

Is there more than one mode?

° Watch Video Solution

6. Find the mode and median of the data: 13,

16,12,14,19,12,14,13, 14

o Watch Video Solution

7. Find the mode of the following data :

12,14,12,16,15,13,14,18,19,12,14 15,16,15,16,15,16,16,15,17,13,


https://dl.doubtnut.com/l/_zdpPQVGt5lCn
https://dl.doubtnut.com/l/_c6kZeqsYtGHP
https://dl.doubtnut.com/l/_xDXmaWczXrak

16,16,15,15,13,15,17,15,14,15,13,15,14

o Watch Video Solution

Exercise 3 2 Multiple Choice Questions

1. The mode of the data : 3,5,1,2,0,2,3,5,0,2,1,6 is

A.6

B.3

C.2

D. 1


https://dl.doubtnut.com/l/_xDXmaWczXrak
https://dl.doubtnut.com/l/_s3poKlzkevD9

Answer:

o Watch Video Solution

2. A cricketer scored 38,79,25,52,0,8,100 runs in

seven innings, the range of the runs scored is :

A.100

B. 92

C.52

D. 38


https://dl.doubtnut.com/l/_s3poKlzkevD9
https://dl.doubtnut.com/l/_FHcPq0PbaDHv

Answer:

o Watch Video Solution

3. Which of the following is not a central

tendency of a data

A. Mean

B. Median

C. Mode

D. Range


https://dl.doubtnut.com/l/_FHcPq0PbaDHv
https://dl.doubtnut.com/l/_A7HSf5ofu0DU

Answer:

o Watch Video Solution

4. The mean of 3,1,5,7,and 9 is

A.6

B.4

C.5

D.O

Answer:


https://dl.doubtnut.com/l/_A7HSf5ofu0DU
https://dl.doubtnut.com/l/_BRlE54YpY8UD

° Watch Video Solution

1. Following data gives total marks (out of 600)
obtained by six students of a particular class.

Represent the data on a bar graph.

L

Ajey | Bali | .Dipti | Faiydz | Gestika | Fasi. . , |

Students : |
Marks Ao wetleay e d 7| 0T RPN .i4’* ‘.. ol

-

obtained: | 450 | 500 | 300 | 360, | ,400..|.540..,

A

° Watch Video Solution



https://dl.doubtnut.com/l/_BRlE54YpY8UD
https://dl.doubtnut.com/l/_FBBIVAj9fgEA
https://dl.doubtnut.com/l/_cGp1zDYJCiHH

2. Read the bar graph which shows the
number of books sold by a bookstore during
five consecutive years and answer the

following questions:

00 Scale: 1 cm = 100 honks
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Years

About how many books were sold in 19897

19907 19927

o Watch Video Solution



https://dl.doubtnut.com/l/_cGp1zDYJCiHH
https://dl.doubtnut.com/l/_ZyaIVy5jzv9D

3. The following bar graph shows the number
of books sold by a bookstore during five
consecutive years. Read the bar graph and
answer the following questions.

In which year about 475 books ? And in which

year were about 25 books sold ?

I

Scale 1 | om = 100 books

"Nursber of books sald
[ (9 f Ln )
2 8 8 8 =

J—
L]
=3

=

o Watch Video Solution



https://dl.doubtnut.com/l/_ZyaIVy5jzv9D

4. Two hundred students of 6th and 7th class
were asked to name their favourite so as to
decide upon what should be the colour of

their school building. The results are shown in

the table:
Favourite Colour : Red Green Blue Yellow | Orange
Nuniber of Students /|, 43 19 55 49 34

Which is the most preferred colour ?

o Watch Video Solution



https://dl.doubtnut.com/l/_TRA2J2RGgxDy

5. Two hundred students of 6th and 7th class
were asked to name their favourite so as to
decide upon what should be the colour of

their school building. The results are shown in

the table:
Favourite Colonr: | Red Green Blue Yellow | Orange
‘| Numiber of Students :|. 43 19 35 49 34

Represent the data on a graph.

Which is the least preferred colour ?

o Watch Video Solution



https://dl.doubtnut.com/l/_FJBcAwBj1z0F

6. Two hundred students of 6th and 7th class
were asked to name their favourite so as to
decide upon what should be the colour of

their school building. The results are shown in

the table:
Favourite Colonr : | Red Green Blue Yellow | Orange
Numiber of Students . 43 19 53 49 34

How many colours are there in all ? WHat are

they ?

o Watch Video Solution



https://dl.doubtnut.com/l/_jt1hV0M0Vv3w

7. Consider the following data collected from a

survery of a colony:

Favourite Sport | Cricket | Basket Ball | Swimming | Hockey | Athletiés

T.=

Watching 1240 470 sio [ 430 | 250

Participating | 620 | 320. [ 320 | 250 .|, nio,

Draw a double bar graph choosing an
appropriate scale. What do you infer form the
bar graph :

Which sports is the most popular ?

o Watch Video Solution



https://dl.doubtnut.com/l/_UvN1pXJXPW26

8. Consider the following data collected from a

survery of a colony:

Favourite Sport | Cricket | Basket Ball | Swimming |Hockey | Athletiés

Watching 1240 470 si0 | 430 ‘| 250

Participating | 620 | 320 . [ 320 | 250 .. 110,

Draw a double bar graph choosing an
appropriate scale. What do you infer form the
bar graph :

Which is more preferred, watching or

participating in sports ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Q0owkSeJ8vur
https://dl.doubtnut.com/l/_ewAb0XDivp2b

9. The following table shows the time (in

hours) Spent by a student of class VIl in a day.

“Activity [Schoal [Sleepin | Playing [WatcKing | Studyifg |Othérs ¢
Lol i Eedfon | Y i T Y
Time | 8 B L e e Fral e B a2
(in hours) 4

IR REETE LSS (O PO N PUY

o View Text Solution

Exercise 3 4

1. State whether the following is certain to
happen, impossible to happen, may happen.

Two hundred people sit in a Maruti car.

| = |


https://dl.doubtnut.com/l/_ewAb0XDivp2b
https://dl.doubtnut.com/l/_v9PstCjT2tSG

I 0 Watch Video Solution I

2. Tell whether the following is certain to
happen, impossible, can happen but not
certain.

You are older today than yesterday.

° Watch Video Solution

3. Tell whether the following is certain to

happen, impossible, can happen but not


https://dl.doubtnut.com/l/_v9PstCjT2tSG
https://dl.doubtnut.com/l/_IFwZbjmXjvyF
https://dl.doubtnut.com/l/_REoxY22VXuVe

certain.

A tossed coin will land heads up.

° Watch Video Solution

4. Tell whether the following is certain to
happen, impossible, can happen but not
certain.

A die when tossed shall land up with 8 on top.

o Watch Video Solution



https://dl.doubtnut.com/l/_REoxY22VXuVe
https://dl.doubtnut.com/l/_t5xlvR0k12jK

5. State whether the following is certain to
happen, impossible to happen, may happen.

Tommrrow will be a rainy day

o Watch Video Solution

6. State whether the following is certain to
happen, impossible to happen, may happen.

India will win the next test series.

o Watch Video Solution



https://dl.doubtnut.com/l/_rWWKextHgciW
https://dl.doubtnut.com/l/_np34W3cOKRUI
https://dl.doubtnut.com/l/_dwB5t6Fkx18s

7. State whether the following is certain to
happen, impossible to happen, may happen.

The next traffic light seen will be red.

o Watch Video Solution

8. There are 6 marbles in a box with numbers
from 1to 6 marked on each of them.
What is the probability of drawing a marble

with number 5?

° Watch Video Solution



https://dl.doubtnut.com/l/_dwB5t6Fkx18s
https://dl.doubtnut.com/l/_dSFJgiRIibVA

9. There are 6 marbles in a box with numbers 1
to 6 marked on them.
What is the probability of drawing a marble

with number 3 ?

o Watch Video Solution

Exercise 3 4 Multiple Choice Questios

1. There are two teams A and B. A coin is

flipped to decide which team starts the game.


https://dl.doubtnut.com/l/_CXa4KEtg5X7D
https://dl.doubtnut.com/l/_QnusSWUgSPB5

What is the probability that team A will start ?

o Watch Video Solution

2. A bag contains 3 red and 7 green balls. One
ball is drawn at random from the bag. Find the
probability of getting (i) a red ball (ii)k a green

ball.

° Watch Video Solution

3. The probability of an impossible event is


https://dl.doubtnut.com/l/_QnusSWUgSPB5
https://dl.doubtnut.com/l/_oGzp0eCwyZGd
https://dl.doubtnut.com/l/_behcoyxsixaD

N

o
Wl ]

Answer: B

o Watch Video Solution

4. The probability of selecting letter G from

the word 'GIRL is


https://dl.doubtnut.com/l/_behcoyxsixaD
https://dl.doubtnut.com/l/_XTNXO6Du4x1T

N o >
W= = = -

o

Answer: C

o Watch Video Solution

5. When a die is thrown, the probability of

getting a number 4 is


https://dl.doubtnut.com/l/_XTNXO6Du4x1T
https://dl.doubtnut.com/l/_yUcI0rCcglbS

o >
= = N N Ve

N

o

Answer: D

o Watch Video Solution

6. A bag contains 5 white balls and 10 black
balls. The probability of drawing a white ball

from the bag is


https://dl.doubtnut.com/l/_yUcI0rCcglbS
https://dl.doubtnut.com/l/_R37OdgMRI0p6

Answer: B

° Watch Video Solution

Other Important Questions Multiple Choice

Questions



https://dl.doubtnut.com/l/_R37OdgMRI0p6

1. In a set of observations the observation that

occurs most often is called :

A. Frequency

B. Median

C. Mean

D. Mode

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_VlZLBS9ikSxX
https://dl.doubtnut.com/l/_sj99hHZPa3jS

2. The mean of first 6 natural numbers is :

A5

B.4.5

C.35

D. 2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_sj99hHZPa3jS

3. Information in the form of numerical figures

is called :

A. Tally Bars

B. Frequency

C. Data

D. Mean

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_UbxXFVlxdulz
https://dl.doubtnut.com/l/_fAQOFjqdZ7g4

4. Representation of information in the form

of symbol or picture is known as:

A. Bar graph

B. Pictograph

C. Fequency table

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fAQOFjqdZ7g4

5. Ashish studies for 4 hours, 2 hours and 3

hours respectively on three consecutive days.

What is his average daily study time?

A. 3 hours

B. 4 hours

C. 5 hours

D. 6 hours

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_G0pNwwsLc9Ds

6. The ages in years of 10 teachers of a school

are:

32,41, 28, 54, 35, 26, 23, 33, 38,40

What is the mean age of these teachers?

A. 32 years

B. 54 years

C. 31 years

D. 33 years

Answer: C

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_gW2F24Z7ZQaD

7. The median of the data 24, 36, 46, 17, 18,25,35

IS

A 24

B. 46

C.35

D. 25

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gW2F24Z7ZQaD
https://dl.doubtnut.com/l/_SDhWtuBeLBSL

8. Find the mode and median of the data: 13,

16,12,14,19,12,14,13,14

A. 12

B.14

C.19

D.13

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SDhWtuBeLBSL
https://dl.doubtnut.com/l/_SSpU5bLn2KIQ

9. Which of the statement is true ?

A. The mode is always one of the numbers

in a data.

B. The mean is one of the number in a data.

C.The median cannot be one of the

numbers in a data.

D. The data 6, 4, 3, 8,9, 12, 13,9 has mean 9

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XVtVFht2OZpe

10. Check which of the following can happen
but not certain.:

()A die when tossed may land up with 8 on
top.

(i) A tossed coin will land heads comes up

(iii) 31 days in the month of January.

(iv) The next traffic light seen will be green.

A. (i),(iii)

B. (i1),(iii)

C. (ii),(iv)


https://dl.doubtnut.com/l/_XVtVFht2OZpe
https://dl.doubtnut.com/l/_3WZ9cyhqZS5j

D. (i),(iv)

Answer: C

° Watch Video Solution

11. A bag has 15 red and 30 green balls. Aball is
draw at random from the bag what is

probability of red ball ?

W~ |-


https://dl.doubtnut.com/l/_3WZ9cyhqZS5j
https://dl.doubtnut.com/l/_NgGIRJxPTrZH

=~ =

Answer: B

° Watch Video Solution

12. On throwing a die what is the probability of

getting number multiple of 2 ?

Al
2

B.1


https://dl.doubtnut.com/l/_NgGIRJxPTrZH
https://dl.doubtnut.com/l/_OB3Y1RZ5THiq

N

o
= W

Answer: A

O Watch Video Solution

13. A coin is tossed 30 times. Head occured 20
times and tail 10 times. What is the probability

of getting a head ?

A2


https://dl.doubtnut.com/l/_OB3Y1RZ5THiq
https://dl.doubtnut.com/l/_W33sKSzZKdS1

@

N
M| w Wl |-

o

Answer: C

o Watch Video Solution

Other Important Questions Fill In Blanks

1. 1. Each numerical figure in a data is called an



https://dl.doubtnut.com/l/_W33sKSzZKdS1
https://dl.doubtnut.com/l/_gmzkrZ6yZLZD

° Watch Video Solution

2. Average lies ... the highest and the

lowest value of given data

o Watch Video Solution

3. Mean is one of the measure of central

tendancy as it gives ............. of the given data.

° Watch Video Solution



https://dl.doubtnut.com/l/_gmzkrZ6yZLZD
https://dl.doubtnut.com/l/_sCAvZFKVejnd
https://dl.doubtnut.com/l/_SzfzheFqDnpk
https://dl.doubtnut.com/l/_laARICwnoOiv

4. The observation which occurs maximum
number of times in the given data is called

................. of the data.

° Watch Video Solution

5. In a bar graph width of all bars and gap

between the adjoining bars must be ...

o Watch Video Solution



https://dl.doubtnut.com/l/_laARICwnoOiv
https://dl.doubtnut.com/l/_daaNWAajpohz

6. The set of all possible outcomes in an

experiment is .........

o Watch Video Solution

7. A data arranged in ascending or descending

order is called .......... ,

o Watch Video Solution



https://dl.doubtnut.com/l/_lsW7JSTm5APS
https://dl.doubtnut.com/l/_rpVKXvPX8XC7

8. Data can be presented visually by ... ,

drawn vertically or. horizontally.

o Watch Video Solution

Other Important Questions True Or False

1. A table Slowing the frequency of various

observations is called a frequency distribution

table. ?

o Watch Video Solution



https://dl.doubtnut.com/l/_c5hHxgSUWiMC
https://dl.doubtnut.com/l/_S1fbHbuz1YwX

2. A set of humbers can not have more than

one mode.

° Watch Video Solution

3. In a bar graph, the length of the bar
depends upon the frequency and the scale

choosen.

° Watch Video Solution



https://dl.doubtnut.com/l/_S1fbHbuz1YwX
https://dl.doubtnut.com/l/_A3xXu6rZNjei
https://dl.doubtnut.com/l/_RtLpkpvdJz1G
https://dl.doubtnut.com/l/_CqwNkgjaxE2m

4. A double bar graph are those bar graph in
which bar graphs drawn besides each other

display of same set.

° Watch Video Solution

5. One throwing a coin the possibility

outcomes head or tail is not same.

o Watch Video Solution



https://dl.doubtnut.com/l/_CqwNkgjaxE2m
https://dl.doubtnut.com/l/_O8giGZG11Du7

6. Event that have many possibilities can have

probability between 0 and 1.

° Watch Video Solution

7. An experiment is a solution that involves a

chance of occurrence of a particular event.

o Watch Video Solution



https://dl.doubtnut.com/l/_7j1lEXHMagxy
https://dl.doubtnut.com/l/_ajOxFHsqmzMO

8. Tally marks are not useful in counting

observation.

o Watch Video Solution



https://dl.doubtnut.com/l/_KSMYAv1pPMFn

